er with current feedback should have low impedance feedback circuit

feedback - R24 provides for feedback from the VAS.
duce the amount of feedback from the output stage.
re, it affects the overall compensation.

onal, you can leave it off to start with.

g R24 may reduce the amount of VAS compensation needed for stability.
s the behaviour of the amplifier in a subtle way and is another part that can be used to ‘voice' the amplifier. If trying other values make bold changes, such as try half or twice the value.

»ad compensation - the trick here is not to over-do it.

wn C27 at 10pF and you likely don't want to go higher. E R30
ng you want to try a little less and you can also try it without C27. & 36.327113V 1.661762mA 56.840088V
ice, C27 reduces the amount of VAS compensation you might need. 2 a4k N .
13 Vds that is >2times Vp
@ 2SK170GR
N P200
J2
lotwinsize=0
umdgt=7 28K170 1.3331536V- 2
1.14618mA 55.840088V %1.785122mA 21.86092mA 56V
g=1k
ncyc=10 R15 c2sD9 g v
cyc=50 <
=215 3 o TS {Vpsu}
itime=(dlycyc+numcyc)/Freq 1.554168V- R9 =
time=dlycyc/Freq QI 120 cl4 c19
nsampl=simti FFT) KSA1015 H
} V(Vin) V(Vout) 2SA1381C 15n 15n
BD140C .param Vpsu 56
2SA1381C W
time} {dlyti ) 18 65V Vee @
ime} {dlytime} {numsampl} c15 LQ ot R1 c1 R40 c24
1t ow Lo 220> T, 220
famp.txt 4%'] 4 5428502V | 15p‘,_m D11 15p 1 - D4
= VAN = VAN
ordell-Models.xt D19 D18 D17 6.0052953V Qs 4 541.90231mV___ — ECX10N1E] o {—| ECX10N16 2
[GND S| 170mA | 3 170mA | §
200 MODELS. txt &P ® 2 E] 1
GREEN B 5 AP = H
GREEN  GREEN e g
faster turn-off resistor BA o R31 X < g
1Kk 2 £ 5
8 S
R14 2 |pu g 8
BC327-40) 2
o 20.546354mY. 156754990 0o 3 3 5 Starts clipping @ 2.2Vin
10 11.093157mA - T % - 2
L1
i R6 c3 -3.8628673mV.
Vin it R17 c13 ® vy
-param Vin 2.2 1k o4 20 70 <200 Toou § D15 18
" o
{ran080u0100n  Vin R7 c4 otz <O Clead YA 3 10
8 4] c27 5 o
SINE(0 {vin} {Freq}) 1Meg = 47k f REl K i
Rser=47 220p 1 ‘ P crr 5
10p N R32 S D16 00
R24 2SA1381C = < < n
$10.923901mA < 1k 5 £ £
K o
)\ 579.6253 ’é.(n\kﬁ T 75vce g 2 g
=] Nested feedback ] © ~|
Z| R46 5! 9|
© R45 a 2 2
< 100 - -
s 100
VR1 s " "
1 75Vce ' 555.3826 —ECx10P16| — ECx10P16
{Voffset} 3 11.038862mA 2 15030 55536261 mV V2 g ‘ = e
2 N 3p > S Re e e c2t b5| g
A4 ;step param Voffset 20k 24k 0.5k R25 E **1 5p A R36 [15p ~ E
R23 3 220 220 2
.param voffset 19k99 56 2| H
ka. 2
5
o
Vce = (VR1/R23 +1)xVbe ~700.08958mV '
%
|es c21
R33 2000u [100n
Choose R33 to have 1.5mA on Q 700 c10 Cc18
[GNDI> BD139C —
15n 15n C26 | D10
R11 4700 g v2
o
R34 120 - {Vpsu}
-12.240663V =
o K 21.901075mA
2w

(fco
BZX8AC12L (4] 220




